Slepe
Rewivders:

1. Bhe sgmbel for slope is m.

2. A line Bhearb rises frowm lefh o righb
has a posibive slope --- /

3. A lime bhab rises frowm right teo lefh
hets a megrrbive slope -~ \



Slepe cem be defined in 3 uerys.

It cem be defived as rise, or Ay,
rym Ax
ushich 1s read as delba y over delba x.
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Sample Calculation
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Example 1:

Step 1: Select 2

1] T

points from the
graph.

Point 1-(x,, y,)-(0,3)

- Point 2-(x,, y,)-( &, 0)

bk
et

Step2: m=y,-v,




Example 2:

Determine the slope of the following line:
y=6

Step 1: Rearrange intotheformy=mx+b
Y= "ax +G

Step 2: Locate the value of “m”
M=

The slope of the line is therefore -B :



Example 3:

Show that P(3,2), Q(-3, -2), and R(6,4) are
collinear. What does "collinear" mean???
L hove the same Sloge
Step1: Find the slope of all three pairs of
points.



Step2: If the slope of all three pairs of
points is the same, the points lie on
the same straight line. Thus, the 3
points are collinear.



Slope of a Line
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